

Bohumil Šmarda

Inner product in  $l$ -groups

*Acta Mathematica et Informatica Universitatis Ostraviensis*, Vol. 8 (2000), No. 1, 89--95

Persistent URL: <http://dml.cz/dmlcz/120562>

**Terms of use:**

© University of Ostrava, 2000

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

## Inner Product in l-Groups

Bohumil Šmarda

**Abstract:** We investigate a new conception of an inner product on lattice ordered groups. The inner product is motivated with a scalar product of vectors in vector spaces. Basic and characteristic properties of the inner product are described.

**Key Words:** inner product, lattice ordered groups

**Mathematics Subject Classification:** 06F15

A scalar product of vectors has a basic part in the theory of vector spaces. Vector spaces together with lattice ordered groups (briefly l-groups) form vector lattices (see [1]). Let us investigate in this paper so called an inner product on l-groups that is motivated with the scalar product of vectors without using of the structure of vector lattices.

*1. Motivation.* The formula  $(\mathbf{u}, \mathbf{v}) = \|\mathbf{u}/2 + \mathbf{v}/2\|^2 - \|\mathbf{u}/2 - \mathbf{v}/2\|^2$  holds for the scalar product of vectors  $\mathbf{u}, \mathbf{v}$  from a real vector space. If we rewrite the right side of this formula for vector lattices (which are abelian l-groups) similarly such that we substitute  $\|\mathbf{u}\|^2$  (i.e., the square of the length of the vector  $\mathbf{u}$ ) with  $|\mathbf{u}| = \mathbf{u} \vee -\mathbf{u}$  (i.e., the absolute value of  $\mathbf{u}$ ) then we obtain  $|\mathbf{u}/2 + \mathbf{v}/2| - |\mathbf{u}/2 - \mathbf{v}/2| = [(\mathbf{u}/2 + \mathbf{v}/2) \vee -(\mathbf{u}/2 + \mathbf{v}/2)] - [(\mathbf{u}/2 - \mathbf{v}/2) \vee -(\mathbf{u}/2 - \mathbf{v}/2)] = \{[(\mathbf{u}/2 + \mathbf{v}/2) \vee (-\mathbf{u}/2 - \mathbf{v}/2)] + (\mathbf{v}/2 - \mathbf{u}/2)\} \wedge \{[(\mathbf{u}/2 + \mathbf{v}/2) \vee (-\mathbf{u}/2 - \mathbf{v}/2)] + (\mathbf{u}/2 - \mathbf{v}/2)\} = (\mathbf{v} \vee -\mathbf{u}) \wedge (\mathbf{u} \vee -\mathbf{v})$ .

Now we can define an inner product of l-groups.

**2. Definition.** Let  $(G, +, \vee, \wedge)$  be an l-group and  $x, y \in G$ . Then an inner product  $x.y$  of elements  $x, y$  is  $x.y = (x \vee -y) \wedge (y \vee -x)$ .

We want to analyze the inner product without the assumption of commutativity of an l-group  $G$ .

*3. Remarks.* 1. We have  $x.x \geq 0$ ,  $x.y = y.x$  and  $x.x = 0 \Leftrightarrow x = 0$ , for  $x, y \in G$ .

2. K. L. M. Swamy [4] and T. Kovář [3] investigated so called autometrics in a commutative l-group  $G$ . The standard autometric has the form  $\rho(x, y) = |x - y|$ , for  $x, y \in G$  and it is in connection with the inner product such that  $\rho(x, y) = (x - y).(x - y)$ .

3. No unit element  $e$  exists in an l-group  $G$  with respect to inner product. Namely, if  $x = x.e = (x \vee -e) \wedge (-x \vee e) = (x \wedge -x) \vee (-e \wedge -x) \vee (x \wedge e) \vee (-e \wedge \wedge e)$  then  $-|e| \leq x$ , for any  $x \in G$ . That is a contradiction with the fact that the smallest element does not exist in  $G$ .

**4. Proposition.** *If  $G$  is an l-group and  $x, y, z \in G$  then it holds:*

- a)  $x.y \geq x \wedge y, |x|.|y| = |x| \wedge |y|,$
- b)  $|x| = x.x, -|x| = x.(-x), x.|x| = x,$
- c)  $x^+.x^- = 0, 0.x = x.0 = 0,$
- d)  $-z + x.y + z = (-z + x + z).(-z + y + z).$

*Proof.* a),b) follow directly from the definition 2.

c) We have  $x^+.x^- = (x^+ \vee -x^-) \wedge (x^- \vee -x^+) = x^- \vee -x^+ = -(x^+ \wedge -x^-) = 0, 0.x = (0 \vee -x) \wedge (0 \vee x) = x^+ \wedge -x^- = 0$  and  $x.0 = 0$  similarly.

d)  $-z + x.y + z = -z + [(x \vee -y) \wedge (-x \vee y)] + z = [(-z + x + z) \vee (-z - y + z)] \wedge [(-z + y + z) \vee (-z - x + z)] = (-z + x + z).(-z + y + z).$

**5. Lemma.** *Let  $G$  be an l-group and  $x, y \in G$ . Then*

$$x + y = (x \vee y) + (x \wedge y) \Leftrightarrow (-x + y)^+ = (y - x)^+.$$

*Proof.* We have  $(x \vee y) + (x \wedge y) = [2x \vee (y + x)] \wedge [(x + y) \vee 2y]$  and thus  $x + y = (x \vee y) + (x \wedge y) \Leftrightarrow 0 = -x + \{[(2x \vee (y + x)) \wedge ((x + y) \vee 2y)] - y\} = [(x - y) \vee (-x + y + x - y)] \wedge [0 \vee (-x + y)] = \{[0 \vee (-x + y)] + (x - y)\} \wedge [0 \vee (-x + y)] = [0 \vee (-x + y)] + [0 \wedge (x - y)] = (-x + y)^+ + (x - y)^- \Leftrightarrow (-x + y)^+ = -(x - y)^- = (y - x)^+.$

**6. Proposition.** *If  $G$  is an l-group,  $x, y \in G$  and  $(x + y)^- = (y + x)^-$  then  $|x - y| = |x| \vee |y| - x.y$  holds.*

*Proof.* The proposition N,[2],p.113 implies that  $|x| \vee |y| - x.y = (x \vee -y) \vee (-x \vee y) - [(x \vee -y) \wedge (-x \vee y)] = |(x \vee -y) - (-x \vee y)| = |(x \vee -y) + (x \wedge -y)| = |x - y|$ . Namely,  $(-x - y)^+ = (-y - x)^+$  and we have  $x - y = (x \vee -y) + (x \wedge -y)$ , see Lemma 5.

**7. Proposition.** *If  $G$  is an l-group and  $x, y \in G$  then  $|x.y| = |x| \wedge |y| = |x|.|y|$  holds.*

*Proof.* We have  $|x.y| = [(x \vee -y) \wedge (-x \vee y)] \vee -[(x \vee -y) \wedge (-x \vee y)] = [(x \vee -y) \wedge \wedge (-x \vee y)] \vee [(-x \wedge y) \vee (x \wedge -y)] = (x \wedge -x) \vee (x \wedge y) \vee (-y \wedge -x) \vee (-y \wedge y) \vee (-x \wedge \wedge y) \vee (x \wedge -y) = -|y| \vee -|x| \vee [x \wedge (y \vee -y)] \vee [-x \wedge (y \vee -y)] = -(|x| \wedge |y|) \vee (x \wedge |y|) \vee \vee (-x \vee |y|) = -(|x| \wedge |y|) \vee [(x \vee -x) \wedge |y|] = -(|x| \wedge |y|) \vee (|x| \wedge |y|) = |x| \wedge |y| = |x|.|y|,$  see 4.a.

**8. Corollary.** *If  $G$  is an l-group and  $x, y \in G$  then  $-(x.y) = x.(-y) = (-x).y$  hold.*

*Proof.* First,  $(-x).y = (-x \vee -y) \wedge (x \vee y) = x.(-y)$  and further  $(-x.y) = (-x \vee \vee -y) \wedge (x \vee y) = (x \wedge -x) \vee (y \wedge -y) \vee (-x \wedge y) \vee (x \wedge -y) = -|x| \vee -|y| \vee -[(x \vee \vee -y) \wedge (y \vee -x)] = -(|x| \wedge |y| \wedge x.y) = -(x.y)$  hold.

Recall, that elements  $x, y$  of an l-group  $G$  are *orthogonal* when  $|x| \wedge |y| = 0$ . Let us denote  $x\delta y$ .

**9. Corollary.** *Let  $G$  be an l-group and  $x, y \in G$ . Then it holds:*

1. *Elements  $x, y$  are orthogonal if and only if  $x.y = 0$ .*
2. *If  $G$  is commutative then  $x.y = 0 \Leftrightarrow |x| + |y| = |x + y| = |x - y|$ .*

*Proof.* The part 1. follows immediately from the proposition 7.

2. $\Rightarrow$ : Propositions 6. and 8. imply  $|x + y| = |x - (-y)| = |x| \vee |-y| - x.(-y) = |x| \vee |y| + x.y = |x| \vee |y|$  and also  $|x - y| = |x| \vee |y| - x.y = |x| \vee |y| = |x| + |y|$ .

$\Leftarrow$ : Similarly, we have  $|x| \vee |y| - x.y = |x - y| = |x + y| = |x| \vee |y| + x.y$  and thus  $2(x.y) = 0$  and  $x.y = 0$ , because  $G$  is a torsion free group.

**10. Proposition.** *Let  $G$  be an l-group and  $x, y \in G$ . Then for the following propositions*

- (i)  $x.y \leq 0$ ,
- (ii)  $x \wedge y \leq 0 \leq x \vee y$ ,
- (iii)  $x \wedge y \leq x + y \leq x \vee y$ ,
- (iv)  $|x - y| \geq |x + y|$ ,

*it holds (i)  $\Leftrightarrow$  (ii)  $\Leftrightarrow$  (iii)  $\Rightarrow$  (iv). If moreover,  $G$  is commutative then also (iv)  $\Rightarrow$  (i) holds.*

*Proof.* (i)  $\Leftrightarrow$  (ii): We have  $0 \geq x.y = (x \vee -y) \wedge (-x \vee y) = (x \wedge -x) \vee (x \wedge y) \vee (-y \wedge -x) \vee (-y \wedge y) = -|x| \vee -|y| \vee (x \wedge y) \vee -(x \vee y) \Leftrightarrow x \wedge y \leq 0 \leq x \vee y$ .

(ii)  $\Leftrightarrow$  (iii): In an l-group  $G$  it holds  $x \vee y = x - (x \wedge y) + y$  and further  $x \vee y = y \vee x = y - (x \wedge y) + x$ ,  $x \wedge y = y - (x \vee y) + x$ . These facts follow  $x \vee y \geq 0 \geq x \wedge y \Leftrightarrow y - (x \wedge y) + x \geq 0 \geq y - (x \vee y) + x \Leftrightarrow -(x \wedge y) \geq -y - x \geq -(x \vee y) \Leftrightarrow x \vee y \geq x + y \geq x \wedge y$ .

(iii)  $\Rightarrow$  (iv): The previous facts imply  $x \wedge y \leq 0 \leq x \vee y$ . Therefore we have  $x \wedge y \leq (x + y)^+ \leq x \vee y$  and  $x \wedge y \leq (x + y)^- \leq x \vee y$ , i.e.,  $-(x \vee y) \leq -(x + y)^- \leq -(x \wedge y)$ . Therefore we obtain  $|x + y| = (x + y)^+ - (x + y)^- \leq (x \vee y) - (x \wedge y) = |x - y|$ , see [2], p.113,N.

(iv)  $\Rightarrow$  (i): If  $G$  is commutative then the propositions 6. and 8. imply  $|x - y| = |x| \vee |y| - x.y$  and  $|x + y| = |x| \vee |y| + x.y$ . If (iv) is true then  $-x.y \geq x.y$ , i.e.,  $2(x.y) \leq 0$  and  $x.y \leq 0$ , because  $G$  is torsion free.

**11. Proposition.** *If  $G$  is an l-group and  $x, y \in G$  then  $|x| \wedge |y| = (x \wedge y) \vee -(x.y) \vee \vee -(x \vee y)$  holds.*

*Proof.* We have  $|x| \wedge |y| = (x \vee -x) \wedge (y \vee -y) = (x \wedge y) \vee [(x \wedge -y) \vee (-x \wedge y)] \vee \vee (-x \wedge -y) = (x \wedge y) \vee -(x.y) \vee -(x \vee y)$ .

**12. Definition.** *A  $\cdot$ -ideal  $I$  in an l-group  $G$  is a subgroup in  $G$  fulfilling the condition:  $x \in I, g \in G \Rightarrow g.x \in I$ .*

**13. Proposition.** *Let  $G$  be an l-group. Then  $I$  is a  $\cdot$ -ideal in  $G$  if and only if  $I$  is a convex l-subgroup in  $G$ .*

*Proof.*  $\Rightarrow$ : If  $x \in I, g \in G, 0 \leq |g| \leq |x|$  then  $|g| = |g| \wedge |x| = |g|.|x| \in I$  (see 7.), because  $|x| = x.x \in I$ . We have  $g = g.g| \in I$  and together  $I$  is a convex subgroup in  $G$ . For  $x, y \in I$  it holds  $0 \leq |x \wedge y| \leq |x| \wedge |y| = |x|.|y| \in I$ . This fact implies  $x \wedge y \in I$  and  $I$  is also an l-subgroup in  $G$ .

$\Leftarrow$ : With respect to 7. it holds  $0 \leq |g.x| = |g| \wedge |x| \leq |x|$  and thus  $g.x \in I$ .

**14. Proposition.** *If  $G$  is a commutative l-group and  $x, y, z \in G^+$ . Then it holds:*

- a)  $(x + y) \wedge z \leq (x \wedge z) + (y \wedge z)$ ,
- b)  $(x + y) \wedge z = (x \wedge z) + (y \wedge z) \Leftrightarrow (x + y - z) \wedge x \wedge y \wedge z \leq 0$ ,
- c)  $x \wedge y \wedge z = 0 \Rightarrow (x + y).z = x.z + y.z$ ,
- d)  $x \wedge y = 0 \Rightarrow (kx).y = k(x.y) = x.(ky)$ , for any integer number  $k$ .

*Proof.* a) We have  $(x + y) \wedge z \leq (x + y) \wedge [(x \wedge y \wedge z) + z] = (x + y) \wedge (x + z) \wedge (y + z) \wedge 2z = (x \wedge z) + (y \wedge z)$ .

b) From the part a) of the proof it follows:  $(x + y) \wedge z = (x \wedge z) + (y \wedge z) \Rightarrow (x + y) \wedge z = (x + y) \wedge [(x \wedge y \wedge z) + z] \Rightarrow (x + y - z) \wedge 0 = (x + y - z) \wedge (x \wedge y \wedge z)$ . On the contrary  $0 \wedge [(x \wedge y \wedge z) + z] = 0 \wedge (x + y - z) \wedge (x \wedge y \wedge z) = (x + y - z) \wedge (x \wedge y \wedge z) \Rightarrow (x + y) \wedge z = (x + y) \wedge [(x \wedge y \wedge z) + z] = (x \wedge z) + (y \wedge z)$ .

c) The previous part of the proof and 7. implies  $x.z + y.z = (x \wedge z) + (y \wedge z) = (x + y) \wedge z = (x + y).z$ .

d) The proposition follows for  $k > 0$  from b); for  $k=0$  follows from 4.c and for  $k < 0$  we have  $(kx).y = (-|k|x).y = -[|k|x].y] = -|k|(x.y) = k(x.y)$ , see 8.

**15. Corollary.** *If  $G$  is an l-group then  $(|x| + |y|).|z| \leq |x|.|z| + |y|.|z|$  holds for  $x, y, z \in G$ .*

*Proof.* Proof follows from 7. and 14.a.

**16. Theorem. 1.** *If  $G$  is an l-group then for  $x, y, z \in G^+ \cup G^-$  it holds:*

a)  $x.y = \text{sgn } x \cdot \text{sgn } y(|x| \wedge |y|)$ , where  $\text{sgn } x = 1$  for  $0 \neq x \in G^+$ ,  $\text{sgn } x = -1$  for  $0 \neq x \in G^-$  and  $\text{sgn } 0 = 0$ .

b)  $x.(y.z) = (x.y).z$ ,

c)  $|(x + y).z| \leq |x.z| + |y.z| + |x.z|$ .

2. *If  $G$  is a representable l-group then parts b and c hold for  $x, y, z \in G$ .*

3. *If  $G$  is a commutative l-group then  $|(x + y).z| \leq |x.z| + |y.z|$  holds for  $x, y, z \in G$ .*

*Proof.* 1a: We have  $x.y = (x \vee -y) \wedge (-x \vee y) = x \wedge y = |x| \wedge |y|$  for  $x, y \in G^+$ ,  $x.y = (x \vee -y) \wedge (-x \vee y) = -y \wedge -x = |x| \wedge |y|$  for  $x, y \in G^-$  and  $x.y = (x \vee -y) \wedge (-x \vee y) = -x \vee y = -(x \wedge -y) = -(|x| \wedge |y|)$  for  $x \in G^+, y \in G^-$ .

1b: We have  $x.(y.z) = x.[\text{sgn } y \cdot \text{sgn } z](|y| \wedge |z|) = [\text{sgn } x \cdot (\text{sgn } y \cdot \text{sgn } z)].[|x| \wedge (|y| \wedge |z|)] = [(\text{sgn } x \cdot \text{sgn } y) \cdot \text{sgn } z].[(|x| \wedge |y|) \wedge |z|] = [(\text{sgn } x \cdot \text{sgn } y) \cdot (|x| \wedge |y|)].z = (x.y).z$ .

1c: Propositions 7., 14.a and [2], p.112, I imply  $|(x + y).z| = |x + y| \wedge |z| \leq (|x| + |y| + |x|) \wedge |z| \leq (|x| \wedge |z|) + (|y| \wedge |z|) + (|x| \wedge |z|) = |x.z| + |y.z| + |x.z|$ .

2. Let us recall that a representable group  $G$  is l-isomorphic with an l-subgroup of a direct product of linearly ordered groups  $G_i (i \in I)$ . Then for every  $i \in I$  it holds  $|x.y|_i = |(x.y)_i| = |x_i.y_i| = |x_i| \cdot |y_i| = |x|_i \cdot |y|_i = (|x| \cdot |y|)_i$ , see 7. The parts b and c we can prove similarly as in the part 1.

3. A commutative l-group is a representable l-group and  $|x + y| \leq |x| + |y|$  holds. These facts imply  $|(x + y).z| = |x + y| \cdot |z| = |x + y| \wedge |z| \leq (|x| + |y|) \wedge |z| \leq |x| \wedge |z| + |y| \wedge |z| = |x|.|z| + |y|.|z| = |x.z| + |y.z|$ , see 7. and 14.a.

**17. Remark.** The inequality 16.c does not hold without absolute values. For example, for  $x \geq 0, x \neq 0, y = z = -x$  it is  $0 = (x + y).z$  and  $x.z + y.z + x.z = x.(-x) + (-x).(-x) + x.(-x) = -x$ .

**18. Corollary.** *If  $G$  is an l-group and  $x, z, u, v \in G$  then it holds:  
 $x\delta y \Rightarrow x.u\delta y.v, x\delta y.v.$*

*Proof.* We have  $x\delta y \Rightarrow |x.u| \wedge |y.v| = (|x| \wedge |u|) \wedge (|y| \wedge |v|) = |u| \wedge (|x| \wedge |y|) \wedge |v| = 0$ . Therefore  $x.u\delta y.v$  holds and the second formula follows similarly.

**19. Proposition.** *If  $G$  is an l-group and  $x, y \in G$  then it holds:*

- a)  $x^+.y^+ = (x \wedge y)^+, x^-.y^- = (-x \wedge -y)^+, x^+.y^- = (-x \vee y)^-,$   
 $x^-.y^+ = (x \vee -y)^-,$
- b)  $(x.y)^+ = (x^+.y^+) \vee (x^-.y^-) = (x^+.y^+) + (x^-.y^-),$   
 $(x.y)^- = (x^+.y^-) \wedge (x^-.y^+) = (x^+.y^-) + (x^-.y^+),$
- c)  $x.y = x^+.y^+ + x^-.y^- + x^+.y^- + x^-.y^+.$

*Proof.* a) Theorem 16.1 implies  $x^+.y^+ = x^+ \wedge y^+ = (x \wedge y)^+, x^-.y^- = |x^-| \wedge |y^-| = -(x \wedge 0) \wedge -(y \wedge 0) = (-x \wedge -y)^+, x^+.y^- = -[x^+ \wedge (-y^-)] = -[(x \vee 0) \wedge (-y \vee 0)] = -[(x \wedge -y) \vee 0] = (-x \vee y)^-, x^-.y^+ = -[-(x \wedge 0) \wedge (y \vee 0)] = -[-(x \wedge y) \vee 0] = (x \vee -y)^-.$

b) First it holds  $(x.y)^+ = [(x \vee -y) \wedge (-x \vee y)] \vee 0 = [(x \vee -y) \vee 0] \wedge [(-x \vee y) \vee 0] = [(x \vee 0) \vee (-y \vee 0)] \wedge [(-x \vee 0) \vee (y \vee 0)] = (x^+ \vee -y^-) \wedge (-x^- \vee y^+) = (x^+ \wedge -x^-) \vee (x^+ \wedge y^+) \vee (-y^- \wedge -x^-) \vee (-y^- \wedge y^+) = 0 \vee (x^+ \wedge y^+) \vee (-x^- \wedge -y^-) = 0 \vee (x \wedge y) \vee (-x \wedge -y) = (x \wedge y)^+ \vee (-x \wedge -y)^+ = x^+.y^+ \vee x^-.y^-$  and also  $(x.y)^- = [(x \vee -y) \wedge (-x \vee y)] \wedge 0 = (x \vee -y)^- \wedge (-x \vee y)^- = x^-.y^+ \wedge x^+.y^-.$

Further, it holds  $x^+.y^+ + x^-.y^- = (x \wedge y) \vee 0 + (-x \wedge -y) \vee 0 = [(x \wedge y) + (-x \wedge -y)] \vee (-x \wedge -y) \vee (x \wedge y) \vee 0 = [0 \wedge (y - x) \wedge (x - y)] \vee [(-x \vee x) \wedge \wedge (x \vee -y) \wedge (-x \vee y) \wedge (y \vee -y)] \vee 0 = |x| \wedge |y| \wedge (x.y)^+ = (x.y)^+,$  see 7. and also  $x^+.y^- + x^-.y^+ = (-x \vee y) \wedge 0 + (x \vee -y) \wedge 0 = [(-x \vee y) + (x \vee -y)] \wedge [(-x \vee y) \wedge (x \vee -y)] \wedge 0 = [0 \vee (y + x) \vee (-x - y)] \wedge (x.y)^- = (x.y)^-.$

c) Finally, it holds  $x.y = (x.y)^+ + (x.y)^- = x^+.y^+ + x^-.y^- + x^+.y^- + x^-.y^+.$

**20. Corollary.** *Let  $G$  be an l-group and  $x, y \in G$ . Then  $x^+.y^+, x^-.y^-$  are orthogonal elements and also  $x^+.y^-, x^-.y^+$  are orthogonal elements.*

*Proof.* Proof follows from 18.

**21. Proposition.** *If  $G$  is an l-group and  $x, y, z \in G^+ \cup G^-$  then it holds:*

- a)  $x \geq 0 \Rightarrow x.(y \vee z) = x.y \vee x.z, x.(y \wedge z) = x.y \wedge x.z,$   
 $x \leq 0 \Rightarrow x.(y \wedge z) = x.y \vee x.z, x.(y \vee z) = x.y \wedge x.z,$
- b)  $x \geq 0, y \wedge z = 0 \Rightarrow x.(y + z) = x.y + x.z,$   
 $x \geq 0, y \vee z = 0 \Rightarrow x.(y + z) = x.y + x.z,$   
 $x \leq 0, y \wedge z = 0 \Rightarrow x.(y + z) = x.y + x.z,$   
 $x \leq 0, y \vee z = 0 \Rightarrow x.(y + z) = x.y + x.z.$

*Proof.* Let us discuss all cases with using of 16.1 and [2], p.102, c:

a) First, if  $x \geq 0$  then it holds:

(i) for  $y, z \geq 0$  it is  $x.(y \vee z) = x \wedge (y \vee z) = (x \wedge y) \vee (x \wedge z) = x.y \vee x.z, x.(y \wedge z) = x \wedge (y \wedge z) = (x \wedge y) \wedge (x \wedge z) = x.y \wedge x.z,$

(ii) for  $y \geq 0, z \leq 0$  it is  $x.(y \vee z) = x \wedge (y \vee z) = x \wedge y = (x \wedge y) \vee -(x \wedge -z) = x.y \vee x.z, x.(y \wedge z) = -(x \wedge -z) = (x \wedge y) \wedge -(x \wedge -z) = x.y \wedge x.z,$

(iii) for  $y \leq 0, z \geq 0$  it is  $x.(y \vee z) = x \wedge z = -(x \wedge -y) \vee (x \wedge z) = x.y \vee x.z, x.(y \wedge z) = -(x \wedge -y) = -(x \wedge -y) \wedge (x \wedge z) = x.y \wedge x.z,$

(iv) for  $y \leq 0, z \leq 0$  it is  $x.(y \vee z) = -[x \wedge -(y \vee z)] = -x \vee (y \vee z) = (-x \vee y) \vee (-x \vee z) = -(x \wedge -y) \vee -(x \wedge -z) = x.y \vee x.z, x.(y \wedge z) = -[x \wedge -(y \wedge z)] = -x \vee (y \wedge z) = (-x \vee y) \wedge (-x \vee z) = -(x \wedge -y) \wedge -(x \wedge -z) = x.y \wedge x.z.$

If  $x \leq 0$  then  $x.(y \wedge z) = -[(-x).(y \wedge z)] = -[(-x).y \wedge (-x).z] = x.y \vee x.z$  and  $x.(y \vee z) = -[(-x).(y \vee z)] = -[(-x).y \vee (-x).z] = x.y \wedge x.z$  hold, see 8.

b) If  $x \geq 0, y \wedge z = 0$  then  $x.y \wedge x.z = x \wedge y \wedge z = 0$  holds and thus we have  $x.(y + z) = x.(y \vee z) = x.y \vee x.z = x.y + x.z.$

If  $x \geq 0, y \vee z = 0$  then  $x.y \vee x.z = -(x \wedge -y) \vee -(x \wedge -z) = -x \vee y \vee z = 0$  and thus we have  $x.(y + z) = x.(y \wedge z) = x.y \wedge x.z = x.y + x.z.$

If  $x \leq 0, y \wedge z = 0$  then  $x.y \vee x.z = -(-x \wedge y) \vee -(x \wedge z) = x \vee -y \vee -z = x \vee -(y \wedge z) = x \vee 0 = 0$  and thus we have  $x.(y + z) = x.(y \vee z) = x.y \wedge x.z = x.y + x.z.$

If  $x \leq 0, y \vee z = 0$  then  $x.y \wedge x.z = -x \wedge -y \wedge -z = -x \wedge -(y \vee z) = -x \wedge 0 = 0$  and thus we have  $x.(y + z) = x.(y \wedge z) = x.y \vee x.z = x.y + x.z.$

**22. Theorem.** *If  $G$  is an l-group and  $x, y, z \in G$  then  $x.(y.z) = (x.y).z$  holds.*

*Proof.* Propositions 16, 19, 20 and 21 imply

$$\begin{aligned} x.(y.z) &= x^+.(y.z)^+ + x^-.(y.z)^- + x^+.(y.z)^- + x^-.(y.z)^+ = x^+.(y^+.z^+ + \\ &+ y^-.z^-) + x^-.(y^+.z^- + y^-.z^+) + x^+.(y^+.z^- + y^-.z^+) + x^-.(y^+.z^+ + y^-.z^-) = \\ &= x^+.(y^+.z^+) + x^+.(y^-.z^-) + x^-.(y^+.z^-) + x^-.(y^-.z^+) + x^+.(y^+.z^-) + x^+.(y^-.z^+) + \\ &+ x^-.(y^+.z^+) + x^-.(y^-.z^-) = (x^+.y^+).z^+ + (x^+.y^-).z^- + (x^-.y^+).z^- + (x^-.y^-).z^+ \\ &+ (x^+.y^+).z^- + (x^+.y^-).z^+ + (x^-.y^+).z^+ + (x^-.y^-).z^- + (x^+.y^+).z^+ + \\ &+ (x^-.y^-).z^+ + (x^+.y^+).z^- + (x^-.y^-).z^- + (x^+.y^-).z^+ + (x^-.y^+).z^- + \\ &+ (x^-.y^+).z^- = (x^+.y^+ + x^-.y^-).z^+ + (x^+.y^+ + x^-.y^-).z^- + (x^+.y^- + x^-.y^+).z^+ + \\ &+ (x^+.y^- + x^-.y^+).z^- = (x.y)^+.z^+ + (x.y)^+.z^- + (x.y)^-.z^+ + (x.y)^-.z^- = (x.y).z. \end{aligned}$$

Let us remark that Proposition 7 implies  $|x| \leq |y| \Leftrightarrow |x.y| = |x|$ . Now, we shall investigate a similar relation introduced in the following definition.

**23. Definition.** Let  $G$  be an l-group and  $x, y \in G$ . Then let us define a relation  $[$  on  $G$  such that  $x[y \Leftrightarrow x.y = x$ .

**24. Proposition.** *If  $(G, \leq)$  is a commutative l-group then  $[$  is an antisymmetric and transitive relation on  $G$  with following properties:*

- The restriction  $[/G^+$  of the relation  $[$  on  $G^+$  is the lattice order on  $G^+$ ,*
- $x \not\parallel 0, y \leq 0, x[y \Rightarrow x = 0$ , for  $x, y \in G$ ,*
- $0[x$ , for  $x \in G$ ,*
- $[$  is reflexive exactly on  $G^+$ .*

*Proof.* First, we shall prove that  $[$  is antisymmetric and transitive:

$$x[y, y[x \Rightarrow x = x.y = y.x = y \text{ and } x[y, y[z \Rightarrow x = x.y, y = y.z \Rightarrow x = x.y = x.(y.z) = (x.y).z = x.z \Rightarrow x[z, \text{ for } x, y, z \in G.$$

Further, we have:

- $x[y \Leftrightarrow x = x.y = x \wedge y \Leftrightarrow x \leq y$ , for  $x, y \in G^+$ ,
- if  $x \geq 0, y \leq 0$  then  $x[y \Leftrightarrow 0 \leq x = x.y = -(x \wedge -y) = -x \vee y \leq 0 \Leftrightarrow x = 0$  and if  $x \leq 0, y \leq 0$  then  $x[y \Leftrightarrow 0 \geq x = x.y = -x \wedge -y = -(x \vee y) \geq 0 \Leftrightarrow x = 0$  hold (see Theorem 16),
- $0 = 0.x \Leftrightarrow 0[x$ , for  $x \in G$ ,
- $x[x \Leftrightarrow x = x.x = |x| \Leftrightarrow x \geq 0$ , for  $x \in G$ .

## References

- [1] Birkhoff G., *Lattice theory*, Amer. Math. Soc. Providence, R.I., 1973.
- [2] Fuchs L., *Partially ordered algebraic systems*, Moscow, Mir, 1965.
- [3] Kovář T., *On normal autometrics in commutative lattices ordered groups*, Discuss. Math. (to appear).
- [4] Swamy K. L. M., *A general theory of autometrized algebras*, Math. Ann. **157** (1964), 65-74.

*Author's address:* Bohumil Šmarda, Department of Mathematics, Faculty of Science,  
Masaryk University, Janáčkovo náměstí 2a, 602 00 Brno, Czech Republic

*E-mail:* smarda@math.muni.cz